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Second Year Higher Secondary Examination
Part — 1lI
GEOGRAPHY
Maximum : 60 Scores
(Map of India and World to Accompany)

Time : 2 Hours
Cool off time : 15 Minutes

~

General Instructions to Candidates :
» There is a ‘cool off time’ of 15 minutes in addition to the writing time of
2 hrs.

¢ You are not allowed to write your answers nor to discuss anything with others
during the ‘cool off time’.

* Use the ‘cool off time’ to get familiar with questions and to plan your answers.
« Read questions carefully before answering.
» All questions are compulsory and only internal choice is allowed.

* When you select a question, all the sub-questions must be answered from the
same question itself. :

» Calculations, figures and graphs should be shown in the answer sheet itself.

¢ Malayalam version of the questions is also provided.

» Electronic devices except non programmable calculators are not allowed in
the Examination Hall.
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1. Differentiate between determinism
and Possibilism. (Scores : 2)

1. aligddlaiiouage eatoadieniealoago
QG)FTREN QAL®00Ve Sldleeymy ?
(Scores : 2)

2. egEmIeal ((l-a ol @M I0®O
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@SS BSH006MMIW UMD
alGlUIUSI B Hs. (Scores : 3)

2. Kerala is considered as a model
for favourable sex ratio. List the
factors responsible for such a

status in the state. (Scores : 3)

3. InIndia minerals are concentrated
3. (JWOMMOW o MORNEHIOM My}

NG G RI0WIEM BOR JHED)
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@IOS QYO eIWIMeR]s Wom)
HOD  ofMlIO®W  @eSIOom

in three broad belts. Complete the
table based on the belts, its
extent and important minerais.

Name of Spatial Important 20D aLiglds a RAOTTNQOLE]Hs.
the belt Extension minerals
dWwom
T*ézs:l;r;h %ﬂﬂ;’ii‘uﬁﬂ} yong) WODm B D
Plateau
CUISHE - B PSHD
Karnataka, aflomd]
Goa and
uplands in cﬁoé&emo?a, 1LY
Tamilnadu odl$mosiag
and Kerala PLelidar
(G BRUDEtRUD,
Copper, zinc, 080
Gypsum, :
Dolomite and ﬁl.nJmJ,u M0,
limestone gladoroo, )
BALICKIEEDE,
(Scores : 3) Alepomt &gl
(Scores : 3)
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4. The following map shows high,
medium and low population
density regions. Identify any two
countries belonging to each of
these regions. Explain the factors
influencing the differences in
population density in these
regions based on the
geographical features existing in
the countries mentioned.

(Scores : 4)

4. moey mmHluligias Glalsoried
SV BYOHERO LDBIUNEO]
LMIVIMBHWES® MW COEUE
&6)8aem allmle:dloyasn.
60600 coelalflenmas e ilmo
QOB IEIBID DMEDOETTOSYOYT EDD
oo \evaglenal @olltad(my ealSH:
60303 @OOISIOED MMOTB®EW
af)EmRe M UPWINTlBMIOCIT
flcudleedes. (Scores : 4)

PACIFIC
OCEAN o
ATLANTIC
OCEAN _

----

g%

S
PACIFIC
47"")') OCE;%:‘\’

¥

60° g 20m

W % e%; o \. L
& Wﬁ 2 . [P
N -

- NDIAN ODEA :/«‘/‘

4y

POPULATION DENSITY 1/
WY More thun 200
3 51-200
EER 1150
Tl 1-10

| E23 Less than 1 M

1 i I 1 H I

g{)ﬂ
T -

5. Analyse the characteristics of
expanding population, constant
population and declining
population. (Scores : 3)
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6. Some of the Indian ports are given
in the brackets. Identify the ports
based on the characteristics
given below :

(Kandla, Chennai, Mumbai,
Jawaharlal Nehru Port,
Marmagoa, Kochi, Haldia,
Paradwip, Visakhapatanam,
Tuticorin)

i) Port which is situated at the
head of Gulf of Kuchch

i) Developed as a satellite port
to Mumbai port

i) Located 105 km downstream
from Kolkata

iv) Situated inthe Mahanadi delta

v) Land-locked harbour in
Andhra Pradesh

vi) The oldest portin the eastern

coast (Scores : 3)

7. Mention the major problems
associated with urban waste
disposal in India.
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(Scores :'2)

6. leoseEiad mallelgas m0

melemes 24ales qpoflaflafl
3188 G aH® B D BHM)
20 cRAEI@le )P,
(mengel, eoleem, nloeaenl,
2OaOBRIOE HMaOO) EROM60,
0dREMON, B0afl, a0oTb W,
aloaflal,Twoeialgemo,
@681 (Tuticorin))
i) WBad B80ad Boflond aymmil
210wl cudla e.2igpem @omeio
ii) myoewewnt ONEIEEIER Halltinn
a0me o modlaligiens
i) emoBonemldd  olmyo

105£9. dl. oaelat (down stream)
@] cudlall 6.01@my.

V) @e00omaEl audneid qudiol
£2IQPTY. ‘

V) SHOEBOMSEEIE 2 yneals
EIWolalerusidd cudlet
621QRN aROMEIO.

vi) wrleanm aloaom aRrale
A REOGMMOW EROMELO.

(Scores : 3)
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8.

10.

11.

Human Development Report for
India prepared by the planning
commission of India is based on
certain indicators. List out the

indicators and explain.
(Scores : 3)

Most of the villages in Kerala are
facing scarcity of groundwater
during the summer season. What
is the method that you can
suggest for recharging of
groundwater in these villages ?
What are the advantages of such

amethod ? (Scores : 2)

Urbanization causes serious
environment problems. Elucidate

the statement. (Scores : 2)

New Delhi, Jamshedpur,
Visakhapattanam, Jharia, Ambala,
Varanasi are some of the towns
in India. Classify them on the

- basis of their major functions.

(Scores : 3)
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11.

aflal L oleEmBaIes @rSIaom
EBRI0em GRUTIQ @DV
SH0TlaUdd  HOMIWIOS AOMA
aflesmm dlea]ods ®QLOEe)
M®. afRO®OOBOHWIET 0D
moldemt? a80cdmMlom
#5020 80} 62103 allaloemo

NBVBYBs. (Scores: 3)

. GoaETiieal dles (onemglelo

BOUMMBOHIRIMIBHIMEMIONS
BQNDE 2Ll 2IE MDD LHODDME
Qlegsimieng. o (1oosssioal
@ynde Zelewlan Ololodeos
aidadlofleaeymailo’ aflessidss)
mldeguilenoaym modgens ?
00 @0BETTIEME METETBES ?
(Scores : 2)

MWEAU@HHOMO WOBISs aldl
oudlash (o cpemstd quyedleememaion
@OMEMMOBYNY, 0D [P0

VOBl BE] . {Scores : 2)

MW a0, Roo¥ W aild,

Qfloros algsmo, ULIBIW, @roos IO,
auoeemoml egymrilad enam iieal oflel
(IO A ISEMEBBROEM. DT algem
BRLOS DA ([IJUBODMEBOHS
@RSIO0MAOEST EDOLOHW DUl

ETOTOE:Y (Scores : 3)



12. Intensive subsistence agriculture

was prominent in Kerala. But it is
indeacline at present. Examine the
reasons for it based on the
characteristics of intensive
subsistence agriculture.

(Scores : 2)

13. Match the items in Column A with
ine most suitable items in
Column Band C.

Good Hope

£ B8 c
Traffic is
Western Europe | comparatively
Northerti and N. America | less between
Atlantic with Australia, Rio de
New Zealand Janeiro and
Cape Town
. Norih-eastem Honolulu is
Cape of

USA with North
weastern Europe

an important
port enroute

West European
and Wast

ROREP
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South African Singapore an
Facific sea | counuies with important port
Fouie Brazil, Argentina | on this route

and Uruguay in

S. America

West Coast of .

. . . Big Trunk

N. America with

o Route

Asia

(Scores : 3)
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14.

15,

16.

17.

18.
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Lack of irrigation, improper
technology, degradation of
cuftivable land are some of the
problems in the agricultural
sector. Discuss other problems
faced by Indian farmers and
make your suggestions to solve
them.

(Scores :

Industries tend to concentrate on
certain locations because of
certain favourable locational
factors. Examine the statement
based on any two industrial

regions in India. (Scores:

Tourism has become one of the
world’s single largest tertiary
activity. Discuss the scope of
tourism with respect to the tourist

attractions in india. (Scores :

Examine the development of
railways, as the main means of
transport for the mass in india.

{Scores :

What is meant by sustainable
development 7 Suggest any two
measures for the promotion of
sustainable development.

{Scores :

2)

3)

2)
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19. Mention the environmental

20,

consequences of migration.
(Scores: 2)

Mark and label the given items

on the outline map of the world

provided

i} The country with the highest
sex ratio

i) The rail-line running from
Perth to Sydney

iil) Anentrepot port for Asia

iv) Amember nation from South
Americain OPEC  (Scores : 4)

. In the outline map of India

@

provided, mark and label the
foliowing

i} The most densely populated
state as per 2011 census

i) An area where coffee is
culiivated

iii} The largest coal field in the
couniry

vy Incdustrial region located along
the Hugli river. (Scores : 4)
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